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01. Study the following statements related to cell and
select the incorrect statement:

(a) The cell was discovered by Robert Brown

(b) The first description of the cell was found in
the book Micrographia.

(c) The longest cell in the human body is the neuron.

(d) Ostrich egg is an example of a large size cell.

02. An example of the smallest cell in the human body is:

(a) Neuron (b) Sperm

(c) Ovum (d) Osteoblast

03. What is an example of a small living cell?

(a) Bread mould (b) Mycoplasma

(c) Virus (d) Bacteria

04. We know that the example of the largest cell is the
ostrich egg, some statements are given below.
Which of the following statements is incorrect.

(a) It is approximately 1.2 kg to 1.6 kg.

(b) It is wide and 140 mm that is 80 mm long

(c) one egg of ostrich is equal to 24 eggs of hen.

(d) Ostrich egg is a multicellular structure.

05. The cell theory was propounded by which of the
following?

(a) Rudolf Virchow

(b) Jacob Schleiden

(c) Schwann and Theodore

(d) Robert Hooke

06. Who first used the word cell.?

(a) Flattening and Canning

(b) Luven Hawk

(c) Theodore Schwann

(d) Robert Hooke

07. Who among the following was the first to describe
a living cell ?

(a) Robert Hooke

(b) Antoine van Leeuwenhoek

(c) Robert Brown

(d) Schleiden and Schwann

Biology By : Sumit Sir
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08. Study the following statements and select the in-
correct statement:

(a) In an animal cell, only the cell membrane is
found as the outer covering.

(b) In plant cells, both cell wall and cell membrane
are found as double envelopes.

(c) Animal cell lacks green salts.

(d) There is a lack of ribosomes in animal cell.

09. The cell wall, the outer covering of the cell, can be
found in any of the following.

(a) Pig / Mushroom (b) Virus

(c) Earthworm (d) Monkey

10. Consider the following statements:

1. In plant cells, the cytoplasm is large, while in
animal cells it is small.

2. In plant cells, mitochondria are relatively small.

3. In a plant cell, the nuclei are possible at their
edges and not exactly in the middle.

Which of the above statements is incorrect.

(a) Only 1 (b) Only 3

(c) Only 2

(d) None of the above

11. Which of the following is found to be deficient in
green salts?

(a) Algae (b) Mushrooms

(c) Pteridophyta plant (d) Lotus plant

12. Which of the following pairs is incorrect in the con-
text of animal cell and plant cell comparison?

(a) plant cell – Lack of lysosomes

(b) animal cell – Exactly in the middle of thenucleus

(c) plant cell – Availability of elasticity

(d) animal cell – Absence of ribosomes

13. Which of the following is more likely to occur in a
plant cell?

(a) Centrosome (b) Lysosome

(c) Glycogen (d) Ribosome

14. Select the correct statement with respect to
prokaryotic cell:

(a) It contains only cell membrane.

(b) It contains only cell wall.

(c) In this the nuclei are clearly visible.

(d) It contains both cell membrane and cell wall.
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15. Which mineral pairs are found in the Middle Lamella?

(a) Calcium and Magnesium

(b) Sodium and Potassium

(c) Sulphur and Phosphorus

(d) Iodine and Magnesium

16. Which statement is wrong in the context of cell
membrane.?
(a) It is an organism.

(b) It is a living organism.

(c) It is semipermeable and has selective properties.

(d) It is made up of protein and fat.

17. The function of the cell membrane is -

(a) Osmosis (b) Diffusion

(c) Permeability (d) More than one of these

18. Select the wrong statement in terms of cell mem-
brane -

(a) Osmosis is unidirectional.

(b) Does not require energy for osmosis

(c) Diffusion occurs only in gases

(d) Singer and Quilson defined the structure of cell
membrane.

19. Select the true/correct statement with respect to
the cell wall.

(a) It is non-living

(b) it is fully pollinated

(c) it is produced by cellulose.

(d) Viruses also belong to the category of plants
and have cell walls.

20. The formation of the middle lamella along the cell
wall is associated with which of the following?

(a) calcium (b) sodium

(c) iron (d) zinc

21. Which one of the following organelles is called the
power house of the cell?

(a) Mitochondria (b) Galactoids

(c) Lysosomes (d) Plastid

22. Study the major statements related to mitochondria.

1. It is a double membrane cell.
2. It plays the role of energy i.e. ATP formation in
our cell.

3. It is made up of protein, fat, DNA and RNA.

Which of the above statements is true?

(a) Only 1 and 2 (b) only 2 and 3

(c) only 3 and 4

(d) 1, 2 and 3
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23. Which one of the following cells is a
semiautonomous organ?

1. Mitochondria 2. Green Lavender

3. Golgibody 4. Lysosomes

(a) only 1 and 2 (b) only 1, 2, 3

(c) only 3 and 4 (d) 1, 2, 3 and 4

24. Which of the following pairs is a double membrane
cell organelle?

(a) Endoplasmic lattice, Golgibody

(b) Lysosome, Centrosome

(c) Ribosome, Centrosome

(d) Mitrochondria, plastid

25. With reference to green salts, study the following
statements:

1. This means autonomy.

2. Green saliva is made up of grana and stroma.

3. Grana is made up of thylakoids.

4. Quantasome is the functional and structural unit
of green solvents.

Select the incorrect statement from the above
statements.

(a) only 1 (b) Only 2

(c) Only 3 (d) Only 4

26. Who discovered plastids?

(a) Richard Altman (b) Carl Venda

(c) Anast Heckel (d) Robert Hooke

27. Which of the following is found in ripened papaya?

(a) Xanthophyll (b) Carotene

(c) Anthocyanin (d) Lycopene

28. Which cell organelles converts solar energy into
ATP?
(a) Mitochondria
(b) Chloroplasts
(c) Ribosomes
(d) More than one of the above

29. Which of the following is present in the animal cell?
(a) cell wall of cellulose (b) nucleus
(c) mitochondria (d) ribosome

30. Select the wrong pair from the following pairs, if
any.
(a) Proteinoplast – pulses
(b) Ileoplast – oilseeds
(c) Amyloplast – Starch
(d) Chloroplast – Green Leaf
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31. Select the incorrect statement with respect to the
endoplasmic network (ER).
(a) It is called the cell's highway.
(b) Keith R Porter discovered
(c) Role in protein and fat formation
(d) Cleanse/Clears cell waste.

32. Which of the following cell types plays an impor-
tant role in protein synthesis?
(a) ribosomes
(b) Roughly intermolecular lattice
(c) mitochondria
(d) Golgibody

33. Consider the following statements regarding the
Galgian apparatus.
1. This is a special membranous sac-like structure.
2. It packs proteins.
3. It is placed in the role of a traffic controller.
4. It is called a protein manufacturing factory.
Which option is false.
(a) Only statement 1
(b) Only statement 2
(c) Only statement 3
(d) Only statement 4

34. Which one of the following cells is called a suicide
bag?
(a) Lysosome (b) Golgibody
(c) Mitochondria (d) Plastid

35. Which one of the following cells is called the fac-
tory of protein production?
(a) Golgibody (b) Centrosome
(c) Ribosome (d) Lysosome

36. Which of the following cell types plays an impor-
tant role in cell division?
(a) Centrosome (b) Ribosome
(c) lysosome (d) mitochondria

37. We know that the ribosome is called the cell organ
of the cell. Which of the following cells does not
contain ribosomes?
(a) Mitochondria (b) Green lubricants
(c) Golgi Body
(d) Roughly intermolecular lattice

38. Which function will not occur in the absence of
ribosomes?
(a) Cellular respiration and energy formation
(b) Protein formation
(c) Initiation of cell division
(d) Production of digestive juices



KGS Campus  Patna –6  Mob. : 8877918018, 8757354880

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(Leucoplast) 

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a)

(b) DNA RNA 

(c)

(d) (Chromatin) 

(a) (WBC)

(b) (RBC)

(c)

(d)

(a) (b)

(c) (d)

39. Note the following pairs and trim the wrong pair, if
any.

(a) George Palade — ribosome

(b) Camillogalgy — Golgi body

(c) Robert Brown — Nucleus

(d) T Overi — endoplasmic lattice

40. If the mitochondria stop functioning, what function
will not be able to be done in the cell?

(a) Oxygenation of food (b) Digestion of food

(c) Swallowing of food (d) Absorption of food

41. Where can leucoplast predominately be found?

(a) In herb cells (b) In aerobic stem cells

(c) In leaf cells (d) In fruit cells

42. The most abundant chemical substance in a cell is

(a) water (b) protein

(c) fat (d) mineral

43. Which one of the following is not compatible?

(a) Virchow — Cell Theory

(b) Robert Brown — Cell

(c) Purkinje — protoplasm

(d) Antonie van Leeuwenhoek — Living cell

44. Who discovered the nucleus?

(a) Robert Hooke (b) Robert Brown

(c) Fontana (d) Huxley

45. Study the following statements about the nucleus
and select the wrong statement.

(a) The nucleus is the controller of the cell.

(b) It is made up of proteins, fats and DNA and RNA.

(c) The nucleus is devoid of ribosomes.

(d) Along with the nucleus, the chromatin thread is
found in which the chromosomes are further formed.

46. Which of the following cells does not have a nu-
cleus during the maturation period?

(a) White Blood Cells (WBC)

(b) Red Blood Cells (RBC)

(c) Amoeba

(d) Euglena

47. Which of the following pairs is wrong based on the
chromosomal number?

(a) Human – 46 (b) Peas – 16

(c) Wheat – 42 (d) Rice – 24
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(a) (b)

(c) (d)

(a) DNA 

(b)

(c)

(d) (Telomeres) 

(Autosome) (Sex

chromosome)

(Autosome) 

(Sexchromosome) XX XY 

(a) (b)

(c) (d)

(a) (b)

(c) (d) DNA

(a) DNA (b) RNA

(c) (d)

(Hereditary material) 

(a) DNA (b)

(c) RNA (d)

DNA 

(a)

(b)

(c)

(d)

48. In the chromosomal structure, it is called the outer
covering.

(a) Matrix (b) Pollicle

(c) Chromatid (d) Setromere

49. Study the following statements about chromosomes
and select the incorrect statement:

(a) Chromosomes are made up of DNA and Histone
proteins.

(b) Ascaris Megalocephala is found to have only 2
chromosomes.

(c) Centrumere is the permanent part of the chro-
mosome At this point, two chromatids are joined.

(d) Telomeres are called the outer layer of chromo-
somes.

50. Consider the following statements.

1. In eukaryotic cells, there are two chromosomes:
and Autosomes other sex chromosome

2. A normal human cell has 22 pairs of autosomes
and 1 pair of sex chromosomes (XX or XY).

3. The chromosomes can control the biological
activities of the organism.

4. New breeds can be developed only on the ba-
sis of chromosomes.

5. Chimpanzees have 48 chromosomes.

Select the wrong one from the above statements

(a) Only 5 (b) Only 1

(c) Only 3 (d) Only 4

51. Is a unit of Heredity.

(a) Gene (b) Cell

(c) Tissue (d) DNA

52. It plays the role of a regulator of protein synthesis
information and protein formation.

(a) DNA (b) RNA

(c) Ribosome (d) Galactic

53. Which of the following is primarily called heredi-
tary material?

(a) DNA (b) Cell

(c) RNA (d) Golgi Body

54. In our cell, DNA combines with some other sub-
stances to form a thin and long threadlike structure.

(a) plasma membrane (b) chromosomes

(c) mitochondria (d) saliva / green saliva
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DNA 

DNA 

DNA 

DNA 

DNA 

(a) (b)

(c)

(d)

RNA 

(a)

(b)

(c)

(d)

RNA 

(a) r–RNA (b) t–RNA

(c) s–RNA (d) m–RNA

RNA 

(a) r–RNA (b) t–RNA

(c) s–RNA (d) m–RNA

DNA 

(a) (b)

(c) (d)

(a) (b)

(c) (d)

DNA 

(a) (b)

(c) (d)

(a) (Mother Cell)

(b) (Daughter Cell)

(c) (Sister Cell)

(d) (Father Cell)

55. Study the following statements regarding DNA.

1. James Dewey Watson and Francis Crick cre-
ated the three-dimensional structure of DNA
during 1952-53.

2. The sequence of DNA is called a polynucle-
otide.

3. There are 4 types of bases in DNA: adenine,
guanine, cytosine and thymine.

4. DNA is also found in green saliva in our mito-
chondria, nuclei and plants.

Select the wrong statement from the above.

(a) Only 4 (b) Only 1

(c) Only 3 (d) None of the above

56. Study the following statements in the context of RNA
and select the incorrect statement.

(a) It consists of a single stand structure.

(b) It contains four bases uracil, adenine, guanine,
cytosine.

(c) It plays a supporting role in the formation of
proteins.

(d) They play a major role in determining our ge-
netic traits.

57. The most common one is RNA.

(a) r–RNA (b) t–RNA

(c) s–RNA (d) m–RNA

58. Is the shortest-lived RNA.

(a) r–RNA (b) t–RNA

(c) s–RNA (d) m–RNA

59. The following are considered to be the primary dis-
coverers of DNA.

(a) Johann Friedrich Miescher

(b) William Astury

(c) Watson and Crick (d) Franklin Garlin

60. Is the physical basis of life.

(a) Protoplasma (b) Cell

(c) Food (d) Tissue

61. Which one of the following cells contains DNA?

(a) Mitochondria (b) Green lubricants

(c) Golgibody (d) More than one

62. The precursor cell that divides is called.

(a) Mother cell (b) Daughter cell

(c) Sister cell (d) Father cell
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(a) (Mitosis) (b) (Meiosis)

(c) (Amitosis)

(d) (Semi Mitosis)

(a) (b)

(c) (d)

(Mitosis) 

(a) (Somatic Cell) 

(b) (Reproductive Cell) 
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(d)

(a)

(b)

(c)
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63. Cell division occurs in bacteria, viruses and unicel-
lular organisms.

(a) Mitosis (b) Meiosis

(c) Amitosis (d) Semi Mitosis

64. Which of the following cell divisions takes place in
the reproductive cells, sperm and egg?

(a) Mitosis

(b) Meiosis
(c) Amitosis

(d) Semi Mitosis

65. Select the incorrect statement in the context of
mitosis.

(a) This division takes place in the somatic cell.

(b) This division takes place in the reproductive cell.

(c) The mother cell divides into two daughter cells.

(d) The division is stepwise and the number of chro-
mosomes in the daughter cells is equal to that of the
mother cell.

66. During is mitosis division, the nucleus is the last stage
of division.

(a) Prophase (b) Metaphase

(c) Anaphase (d) Telophase

67. Cell is an exception to the 'principle'.

(a) bacteria (b) fungi

(c) viruses (d) lichens
68. What is synthesized in the nucleus?

(a) Fats (b) Proteins

(c) Ribosomes

(d) Spindle fibers or logic fibers

69. Cell is called a skeleton or cell.

(a) Ribosome (b) Centrosomes

(c) Intracranial plexus

(d) Golgi Body

70. Ramesh suffered a fracture in his hand. Which of
the following cell divisions will heal the wounds of
his hands.

(a) Symmetrical division

(b) Semi-symmetrical division

(c) Asymmetrical division
(d) Prophase

71. Plants grow more than animals because of

(a) having permanent tissue

(b) having fissile tissue

(c) having more chromosomes

(d) being fixed in place
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(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) DNA (b) RNA

(c) (d)

(Apaptosis) 
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(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a) (Marcello Malpighi) 

(b) (Histology) 

(c)

(d)

72. Choose the wrong pair from the following:

(a) lysosome — Suicide bag of cell

(b) Green saliva —  as food of sac cell

(c) Golgibody — Garbage of traffic

police cell

(d) Vacuole — the cell's trash
73. Which of the following cell types is found in both

prokaryotic and eukaryotic cells?

(a) Plastid (b) Mitochondria

(c) Ribosome (d) Golgibody

74. Which of the following organisms lacks a nucleus?

(a) Thorobacillus (b) Anabaena

(c) Yeast (d) Euglena

75. The lattice (chromatin thread) present in the nu-
cleus is formed in which of the following?

(a) DNA (b) RNA

(c) Vitamin (d) Lipid

76. Apaptosis process is possible by the influence of
which cell organelle.

(a) Lysosome (b) Ribosome

(c) Galization (d) Centrosome
77. It gives a definite shape to the cell.

(a) Cell membrane (b) Cell wall

(c) Nucleus (d) Golgibody

78. Both the nucleus and the cell make up the nucleus.

(a) protoplasm (b) Cell membrane

(c) Embryonic

(d) Nucleus membrane

79. Which of the following is an example of a prokaryotic
cell?

(a) protozoan (b) bacterium

(c) fungus (d) algae

80. Tissue is a group of cells which are similar in struc-
ture.

(b) They are similar in function.

(b) It's the same at work.
(c)  is identical in origin.

(d) All of the above

81. Study the following statements with respect to tis-
sue and select the incorrect statement:

(a) Tissues were first described by Marcello
Malpighi.

(b) The study of tissues is called histology.

(c) Tissues are specific groups of cells.

(d) Our blood is not an example of tissue.
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(Skin) 

(a) (b)

(c) (d)
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(a) Ca
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4
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(b) CaCo
3

(c) Ca
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(c)
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(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

82. What type of tissue makes up the outer layer of our
skin and internal organs?

(a) epithelial tissue (b) connective tissue

(c) neural tissue (d) muscular tissue

83. A woman sprains her leg when she walks. What
type of tissue will be affected during this time -

1. Connective tissue 2. Muscular tissue

3. Nerve tissue
4. The epithelial tissue

Based on the above statements, select the correct
answer

(a) Only 1 and 2 (b) Only 3 and 4

(c) Only 1, 2 and 3 (d) 1, 2, 3 and 4

84. The following is not an example of connective tis-
sue.

(a) Stem and cartilage

(b) Blood lymph

(c) Tadons and ligaments

(d) Cardiac muscle and voluntary muscle

85. It is the strongest tissue in the body and is formed
mainly from ............

(a) cartilage, Ca
3
(PO

4
)

2

(b) Linear muscle, CaCO
3

(c) vitreous cartilage, Ca
3
(Po

4
)

2

(d) Bone, CaCO
3

86. Choose the wrong pair from the following:

(a) Small intestine – Columnar epithelium

(b) Salivary duct – Cubic epithelium

(c) Respiratory duct – Columnar side lobe

(d) Air duct – Silky epithelium

87. A group of cells is called.

(a) organ (b) tissue

(c) cell organ (d) muscle

88. Consider the following:

1. Blood is a liquid connective tissue.

2. Specific muscle tissue is found in the heart.
3. Our muscles are a type of epithelium tissue.

4. The unit of nerve tissue is called a neuron.

Select the incorrect statement in the above state-
ments

(a) Only 1 (b) Only 2

(c) Only 3 (d) Only 4

89. What kind of tissue is our brain made up of?

(a) Epithelium tissue (b) Connective tissue

(c) Muscular tissue (d) Nerve tissue
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(a)

(b)
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90. The protective shield of the body and the wound
are complementary.

(a) Nerve tissue

(b) Epithelium tissue

(c) Muscular tissue

(d) Connective tissue

91. Consider the following pairs and compare the pairs.

(a) Arm muscle – involuntary muscle

(b) Heart muscle function – involuntary muscle

(c) Lung muscle – involuntary muscle

(d) Leg muscle – voluntary muscle

92. Which tissue are the two bodies connected to each
other?

(a) ligament

(b) tendon

(c) fat connective tissue

(d) areolar connective tissue

93. Sarcomere is related to which of the following?

(a) Nerve (b) Muscle

(c) Presence (d) Areolar

94. Consider the following:

1. The lined muscle is called the vestibular mus-
cle or the elective muscle.

2. Necrotic muscle is also called smooth muscle
or non - muscular muscle.

3. Cardiac muscle tissue is linear in structure and
nonlinear in function.

4. The interstitium is a new organ that replaced
connective tissue.

Select the statement False from the above:

(a) Only 1 (b) Only 2

(c) Only 3 (d) All

95. Which of the following statements is false in the
context of fissile tissue?

(a) The apex tissue increases the length of the stem.

(b) Increases the thickness of the lateral tissue stem.

(c) The intracellular tissue plays a role in the pro-
duction of fruits, flowers, etc. in plants.

(d) There is no cell division in divalent tissues.

96. Select the false statement in the context of 'phloem'.

(a) It is complex vascular tissue.

(b) It is non-living tissue.

(c) It transports food.

(d) Able to travel in two directions i.e. up and down.
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(a)

(b)

(c)

(d)

(a) (b)

(c) (d) a c 

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

97. Select the wrong pair from the following pairs:

(a) Collenchyma – Mechanistic Support

(b) Chlorenchyma – Photosynthesis

(c) Sclerenchyma – Coconut Upper bark

(d) Parenchyma – Non-living tissue

98. Which of the following tissues is non-living?

(a) xylem (b) phloem

(c) firm tissue (d) Both a and c

99. Water hyacinth is the main tissue found in water
hyacinth and other aquatic plants.

(a) gross angle tissue (collenchyma)

(b) soft tissue (Aerenchyma)

(c) firm tissue (sclerenchyma)

(d) apical

100. Choose the wrong pair from the following:

(a) xylem – transport of water

(b) phloem – transport of food

(c) parenchyma – production and

storage of food

(d) apex tissue – growth and function

of  fruit and flower

101. There are many long branches of a tree like banyan
etc., the tissue which helps in lateral movement of
water in such long branches is.

(a) collenchyma (b) parenchyma

(c) xylem vessel (d) phloem vessel

102. The phloem and muscles are examples.

(a) Tissue (b) Organ

(c) Cell (d) System

103. Sclerenchyma hard tissue which is long thick and
narrow becomes of:

(a) Stroma (b) Grana

(c) Lignin (d) Thick walls

104. The cork is arranged systematically without inter-
cellular spaces with a special type of substance
called.

(a) Stroma (b) Grana

(c) Lignin (d) Pectin

105. Neuron is the largest part of the tissue -

(a) Exon (b) Cyton

(c) Dendron (d) Myelin seat
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-I -II 

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(A) (R) 

(A) :

(R) : 

(a) A R R, A 

(b) A R R, A 

(c) A R 

(d) A R 

106. Which of the following pairs are not compatible?

List - 1 (Symptoms) List II (Animal Cell)

(a) Unicellular Chlamydomonas

(b) Multicellular Yeast

(c) Smallest Cell Mycoplasma

(d) Largest Cell Ostrich Egg

107. Which of the following forms of life lack a nucleus?

1. Thiobacillus 2. Chlamydomonas

3. Euglena 4. Anabaena

5. Paramecium 6. Yeast

code:

(a) 1 and 2 (b) 1, 2 and 4

(c) 1 and 4 (d) 2, 4 and 6

108. What is the difference between an animal cell and a
plant cell?

1. Size of the nucleus

2. Position of the nucleus

3. Size of Vacuoles

4. Number of Vacuoles

5. Number of mitochondria

6. Centrosome

7. Dictyosome

8. Plastid

Code:

(a) 1, 2, 3, 4, 6, 7 and 8

(b) 2, 3, 4, 6 and 7

(c) 2, 3, 4, 5, 6 and 8

(d) All the above

109. Read the following statements (A) and Reason (R)
and select the correct answer with the help of the
code given below.

Statement (A) : The egg shrinks when a shellless
egg is dipped in concentrated sugar syrup.

Reason (R) : The cell membrane of the egg gets
deformed due to the excess of light.

Code:

(a) Both A and R are correct and R is the correct
explanation of A.

(b) Both A and R are correct, but R is not the cor-
rect explanation of A.

(c) A is true, but R is false.

(d) A is false, but R is true.
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SER 

RER 

RER = SER 

(a) (b)

(c) (d)

(A) (R) 

(A) :

(R) : 

(a) A R R, A 

(b) A R R, A 

(c) A R 

(d) A R 

-I -II 

-I -II 

A.

B.

C.

D.

E.

A B C D E
(a) 5 4 1 3 2
(b) 2 5 4 1 3
(c) 5 4 3 1 2

(d) 5 3 1 2 4

(a)

(b)

(c)

(d)

110. Which statement is false in the context of the Endo-
plasmic reticulum?

1. SER synthesizes lipids even in the absence of
ribosomes.

2. RERs synthesize proteins because they con-
tain ribosomes.

3. A normal cell has a RER = SER.

Code:

(a) Only 1 (b) 1 and 2

(c) Only 3 (d) 2 and 3

111. Read the following statement (A) and Reason (R)
and select the correct answer with the help of the
code given below.

Statement (A) Potatoes are high in leukoplasts.

Reason (R) The collection of food in potatoes takes
place in the underground stem.

Code:

(a) A and R. Both are correct and R is the correct
explanation of A.

(b) Both A and R are correct, but R.A is not the
correct explanation.

(c) A is true, but R is false.

(d) A is false, but R is true.

112. Match the following List-1 with List-II.

List-1 (cell organ) List-II (common name)

A. Lysosome 1. Trash of cell

B. Green saliva 2. Traffic police of cell

C. Vacuole 3. Diner of cell

D. Golgibody 4. Control room of cell

E. Nucleus 5. Cell suicide

code:

A B C D E

(a) 5 4 1 3 2

(b) 2 5 4 1 3

(c) 5 4 3 1 2

(d) 5 3 1 2 4

113. Which organ of the cell contains the oxysomes

(a) Mitochondria, Cyst

(b) Green saliva, Grana

(c) Mitochondria, Matrix

(d) Green saliva, Stroma
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(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

114. Which of the following organelles helps in the for-
mation of ribosomes?

(a) The intermolecular lattice

(b) The nucleus

(c) The nuclei

(d) The Golgibody

115. Centrioles or centrosomes participate in

(a) the formation of nuclei

(b) the initiation of cell division

(c) the formation of cell plates

(d) the formation of spindle fibers.

116. Meiosis cell division occurs

(a) in liver cells (b) in zygotes

(c) in germ cells

(d) in mesenchyme cells

117. Under meiosis, the number of chromosomes in pro-
genitor cells

(a) halves

(b) remains the same as the parent cell

(c) remains a quarter

(d) doubles

118. What is useful for stopping the process of cell divi-
sion

(a) action by colchicine

(b) effect by paraviolet light

(c) reduction of carbohydrates

(d) effect by hormones

119. What is the most common cancer in men?

(a) Oral and Throat Cancer

(b) Leukemia

(c) Oral Cancer

(d) Lung Cancer

120. Viruses are difficult to kill because they

(a) consist of a hard protein coat

(b) are very small in size

(c) lack cellular structure

(d) spend a lot of time inside host cells

121. Which of the following statements about the cell
theory is true?

(a) Cell theory does not apply to fungi

(b) Cell theory does not apply to viruses

(c) Cell theory does not apply to bacteria

(d) Cell theory does not apply to algae
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(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

DNA 

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

122. Chromosome structure.... can be best seen during
(a) anaphase (b) metaphase

(c) prophase (d) none of these

123. In which of the following stages spindle fiber is
formed?

(a) Interphase (b) Anaphase

(c) Metaphase (d) None of these

124. Who first used the term 'biomass'?
(a) Darwin (b) Purkinje

(c) John Ray (d) Hutchison

125. Which of the following is considered to be the physi-
cal basis of life -

(a) nucleus (b) biomass

(c) food (d) cell

126. two stands of DNA are bound -

(a) by hydrogen bonds

(b) by covalent bonds

(c) by the constant-validation force

(d) by Vanderwals forces

127. Which of the following cell organelles makes up a
lysosome?

(a) the nucleus
(b) the intermolecular lattice

(c) the Golgi molecule

(d) the ribosome

128. What is involved in the growth and repair of dam-
aged tissue?

(a) cell division mitotic only

(b) both pointy and meiotic cell divisions

(c) meiotic cell division only

(d) ameiotic cell division only

129. In which of the following tissue types, there are
contractile proteins?

(a) Nerve tissue

(b) Muscular tissue

(c) Bone tissue

(d) Blood tissue
130. Consider the following:

1. Emission

2. Response to stimulus

3. Reproduction

Which of the above are included in the characteris-
tics of living organisms (both animals and plants)?

(a) Only 1 and 2 (b) only1 and 3

(c) only 2 and 3 (d) 1, 2 and 3
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(WBC)

(Unicellular) 

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

-I -II 

-I -II

A.

B.

C.

D.

A B C D

(a)

(b)

(c)

(d)

131. Consider the following -
1. Amoeba

2. Paramecium

3. Chicken egg

4. White blood cells (WBCs)

Which of the above are examples of unicellular
structure?

(a) Only 1 and 2 (b) Only 3 and 4

(c) Only 1, 2 and 4 (d) 1, 2, 3 and 4

132. Consider the following -

1. The bacteria 2. Fungus

3. Virus

Which of the above can be cultured in artificial/
synthetic medium?

(a) Only 1 and 2
(b) Only 2 and 3

(c) Only 1 and 3

(d) 1, 2 and 3

133. Which of the following are common to both bacte-
ria and viruses?

1. Ribosome

2. Nucleus absent

3. Cell wall

4. DNA / RNA

Code:

(a) Only 2 and 4

(b) Only 1 and 2

(c) Only 1 and 4

(d) Only 2, 3 and 4
134. Match List-1 with List-II.

List-I List-II

A. Lysosome 1. Site of energy production.

B. Mitochondria 2. Storage improvement and

packaging of products in vesi-
cles.

C. Golgi apparatus 3. Convection of substances in

different segments of the cell.

D. Intermolecularlattice 4. Waste disposal sys-
tem of cell.

code:

A B C D
(a)

(b)

(c)

(d)
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(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a) (b)

(c)

(d)

135. Consider the following statements:

1. The cells found in the human body are differ-
ent in shape and size.

2. In multicellular organisms, life begins with a
single cell.

3. The reduced number of cells affects the activ-
ity of the organism.

Which of the above statements is / are correct?

(a) Only 1 (b) 1, 2

(c) Only 3 (d) 1, 2, 3

136. Consider the following statements:

1.  The first cloning was done of a sheep named Dolly.

2. It was a clone of Blackface.

3. This cloning was done by Ian Willmott.

Which of the above statements is / are correct?

(a) 1, 2 (b) Only 2

(c) 1, 3 (d) 1, 2, 3

137. Notice the following -

1. Cell Membrane

2. Cell Wall

3. Cellulose

Protects the plant from atmospheric moisture and
fast-moving air Which of the above forms part of
the cell?

(a) 1, 2 (b) Only 2

(c) 1, 3 (d) 1, 2, 3

138. Consider the following statements:

1. Plants have both sexual and asexual reproduc-
tion, whereas animals have only sexual repro-
duction.

2. Sperm and egg are single cell.

Which of the above statements is / are correct?

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

139. Consider the following statements:

1. The zygote is formed as a result of sperm and
egg fertilization.

2. Fish, starfish have external fertilization.

3. Internal fertilization takes place in the chicken.

How many of the above statements are true?

(a) only one (b) only two

(c) all three

(d) none of the above
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(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

140. Consider the following -

1. Skin

2. Muscles

3. Veins

4. bone marrow

Which of the above tissues is found in areolar con-
nective tissue?
(a) Only one

(b) Only two

(c) Only three

(d) All four

141. Consider the following statements:

1. The urethra is an example of delineated muscle.

2. Nerve tissue is made up of neurons.

Which of the above statements is / are correct?

(a) Only 1

(b) Only 2

(c) Both 1 and  2

(d) Neither 1 nor 2




